
Worksheet 4 Answer Key

1
. f(x) = x2+ 1

f(2)

f(l) IIIIIII
. AX width= I here

Ax=
12

Area " Area Rectangle 1 + Area Rectangle 2

= Height, Width + Height . Width

= f (1) : ) + f(2) - I

= (12 + 1) . 1 + (22+ 1) . I

= 2. + 5 . = 2 + 5 = 7 overestimate

2 . f(x) = x+ 1

l/ AX width = - here

//

↓'
AX="I

Area " Area Rect
,

+ Area Rect2 + Area Rectz +Area Recty

= H , Width + H2 Width + Hs Width + Hy . Width

= f(t) . t + f() . t + f(z) . t + f(z) . +
44 + 4/4

= (t)+ 1) . + + (12+ 1) . t + ((4 ) .t+ (22+ 1) - t

= Opt + dit + 4t + 5 t OR, Can factor out + ...

8/8
= + Y + + * = + +4 + = overestimate

but better estimate

Y = X
3. f(x) = x

Area Interpretation
↳

Area= 1 base. Height
6

= t 6 l I 3 = 18
6 1

Function
Value

f(b) = 6



7 -

4. f(x)= x+ 3
4

Area 8
4

-

3 - -

4 ↓ . b . h = 4 . 4 .4 =1 = 8

3 Area 12 3

4 4

4 Total Area= 12 + 8 = 20

4

OR/ ........... 4 8

Area 28 7
-

= 20-8 = 20 N

4

5. +(x) = X

- f (*)=* and + (2+) = 2+ f(x) is the Identity here

6 . f(x) = 3X- 4

- f(π) = 3(* ) - 4 = 24- 4

- +(3 +4) = 3(3+4) - 4 = 9 +
i

- 4 = 5+

7 . f(x) = x+ 5

-+(i) = (2)+ 5 = 2 + 5

s +(4 + 4) = (4 + zi)2+ s = (4 + zi)(4 +2)
= 16+ + 2+ + S

= 2 + H+I
U

8. f(x) = x - 2x + 7

- +() = bi 2 - y = 3 +

>
-

+( + 4) = ( + 4)= 2) 1 + 6) + 1

= -L+ 2.
K2

= 10 - 2 +
3
n2



9. Lim 3 = 3 Limit of a constant equals the constantt

li -
10

10. I = O
n- * n

&
D

I. -Pol +T
= 1

'E12. lim
M+

t= him 1 +
n-> n n ↳

13. Lim n + 3=n-> N n

O

-14. Sim
In+

+ = 2-him
inI

n-> N n n

d

15 . Lim MIM+ 1)
Sin #' m = lim to==

n-> N 42 Partner

O

= lim
Both

=C ***, lim 1+Or
,him Mintone o

-
n2 * ·

O
90

· +H16
.
Lim n(n+1) (2n+1) = him# = lim iti I IU
n -> N n3 n ->x

H . n . U
= 1 . 1 . 2 = 2

1 . him 3-1. M(NH) -

E .

n(u+ 1)(2e
Repartner

n2 2 6

2 I Split-Split

= li

no3-ftt- aener- -

= 3 - 2 % 1 - 2 .42 = 3 - 2- 4 = - 3

18. 2
,

6 = 6 + 6 +6 ... + b = kn

n copies

-n

Or, 6 = 6 =641th + It .. + 1) = 6 on

n copies
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19. (3) =
-31 = - 3 . n= OR

,
* - 3 =

- 3 - 3-3- ... - 3 = - 3 . n

m=
i = 1

ncopies

d
d

I n

364 30 E
36 ;

20. (i -3) = n
2

-

M
I

i=
42 -zo

-= - 0

= Ei-zo= -30 Match
4 2 i = ni= 1

L L L
C

· 2

2. (1 +2) 2 (e)= 1 + b t 91 . ↳
-

T 42 W

& & &

- + Hi + Zie

I+i= 142
n

n

E 1 + 1 i +

/
-
Hi= 1
ien=

i = 1
I

= 3 + 1 i+ Match
n i = 1


